ЗАДАНИЕ №21 (ОГЭ-9 КЛАСС) 
1)  Разложите на множители: [image: http://sdamgia.ru/formula/fd/fd8e9e7bd61ed4c38577f24733b7f974.png].
2) Сократите дробь  [image: http://sdamgia.ru/formula/ef/ef5ba11ea1b24c51b9875a75001bae10.png] 
3) Упростите выражение   [image: http://sdamgia.ru/formula/8c/8cb012a3f38522cba3d010f2af9a9bb0.png]
4) [bookmark: _GoBack]Упростите выражение:   [image: http://sdamgia.ru/formula/a8/a8237a52354a89feed056eca30419b0a.png].
5) Упростите выражение:    [image: http://sdamgia.ru/formula/13/134cf537a94117d9d04b6b6d08fa4987.png].
6) Упростите выражение:   [image: http://sdamgia.ru/formula/d9/d9e06878898c292dd3e44333afa73071.png]
7) Сократите дробь:   [image: http://sdamgia.ru/formula/cd/cd3df53ddcd799bce99395b5945c5978.png]
8) Упростите выражение [image: http://sdamgia.ru/formula/75/75bccdf6113b476ff853ebbed11e1594.png]
9) Найдите значение выражения [image: http://sdamgia.ru/formula/18/18289f3c4b2300162b3f6527c6430f48.png] при  [image: http://sdamgia.ru/formula/72/72187fa5447d22f490e67759cbe63676.png]  [image: http://sdamgia.ru/formula/c8/c8af65e7099b2e8405006da8b5c5aaf7.png] В ответе запишите найденное значение.
10) Упростите выражение:   [image: http://sdamgia.ru/formula/fb/fbaadca528350162a459daf6048ca91e.png].
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